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1. Assume p is an even number, g is an odd number. If the solution of the simultaneous

x—2014y =1p

are integers, then () is true in the following statements.
2013x+3y =(

equations {

(A) xisan even number, y is an odd number.
(B) xisan odd number, y is an even number.
(C) xandy are even numbers.

(D) x andy are odd numbers.

2. What is the value of 1-(2—(3—(4—(---—(2014—-2015)---)))?

(A) —1008 (B) 1008 (C) —1007 (D) 1007

3. Points of a pentacle are A, B, C, D, E, then B 3
ZA+/B+£C+ /2D + ZE =? E
(A) 360° (B) 270° (C) 180° (D) 90° C
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